
Kalkulationsvereinfachungsverfahren 
 
 

Büroberufe 
 

Einzelhandel 

LVP nettoKalkulationsfaktor = 
Einstandspreis

 BruttoverkaufspreisKalkulationsfaktor = 
Einstandspreis

 

 
(LVP netto - Einstanspreis) * 100KZS = 

Einstandspreis
 

KZS : Kalkulationszuschlagssatz 
 

 
(Bruttoverkaufspreis - Einstanspreis) * 100KZS = 

Einstandspreis

(LVP netto - Einstanspreis) * 100HS = 
LVP netto

 

 
HS : Handelsspanne 

(Nettoverkaufspreis - Einstanspreis) * 100HS = 
Nettoverkaufspreis

 

  
(Bruttoverkaufspreis - Einstandspreis) * 100KA = 

Bruttoverkaufspreis
KA : Kalkulationsabschlag 
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